ar s 4 l 3 ¥ 2 ' 1

PARTS LIST (KIT NO., 244-063-501)

‘?é\ ' ITEM  PART NO.  arv, DESCRIPTION
@ 12\\ no,

R.H. SHAFT OF > 1 234-560-301 1 HanpLE (COMPLETE)
D \(vsasa-aum 2) i/ OUTSIOE OF 2 176-389-002 1 Bearine D
. \ HOUSING 3 178-744-001 2 [InTerLock Cover PLaTE {
N g 4 54382-C2 4 Cap Screw, Hex Hp (3/8-16 x 5/8”" Le.) |
5 53119-H 4 LockwasHer (3/8") |
6 177-867-301 1 Cover PLaATE Assy. |
7 - 201-663-002 1 Open INDICATOR PLATE
8 201-663-001 1 Crosep INDICATOR PLATE
9  176-356-002 1 Seacer )
10 321-114-301 1 InTerrock Disc. & Hus Assy. |
] 11 53113-H10 1 Corter Pin (3/16" x 2 1/2" Le.) —
12 50701-A79 4 FLaTwasHer (3/8") '
13 54400-H 4 Nur, Hex (3/8-16)

PR

Ky
RATING 4
C 8.0 , 4 7/8 @I C
17.0 27.0 37/8 |w
15.0 37/8" |3
2 o .
8.25 3 9/16" |3 5 NOTES:
3 2

T onE

- 1. VERSA-RUPTER SWITCH TO BE IN THE CLOSED POSITION
" 1 3 ! 4 ‘To ATTAcH THE Direct Drive OperaTion KiT Assy,
2 3/4" | 2 3/4 @l %
- £ = 3/4" DIA,
| 4K HOLES (4) — C e

o .
o : AN
3| & ! 2
of = ' PARTS LIST (KIT NO. 244-063-502)
+ © SHAFT
o & ITEM PART NO. QTY. DESCRIPTION
2l 3 7 1 234-560-303 1 HANDLE COMPLETE
: a0 . 1 2 176-389-002 1 BEARING
a | : 3 178-744-001 2 INTERLOCK COVER PLATE
g N é l S 4 5438202 4 CAP SCREW, HEX HEAD (3/3-16x5/8)
-’. B 0 5 53119-H 4 LOCKWASHER (3/8) B
y SHRFT 6 177-867-303 1 COVER PLATE ASSY.
- \ Eggirégg"l ; 33;—::3-002 1 OPEN INDICATOR PLATE
: ) : . ) 1 201-663-001 1 CLOSED INDICATOR PLATE
CUT-0UT & DRILLING PLAN 740 ) 9 176-356-002 1 SPACER
& 10 321-114-301 1 INTERLOCK DICS. & HUB ASSY
11 S53113-H10 1 COTTER PIN (3/16x2 %)
. _ 12 50701-A79 4 FLATWASHER (3/8)
i Kv Te——OuTsIDE oF g 13 H 4 UT. HEX (3/8-16)
4 RATING HOUS ING |
_RATING ) POSITION 2 |
—_ 38.0 2 5/8" : LOCK OPEN
17.0 27.0 2" MIN. 2 5/8" MAX. ' & CLOSED
15.0 1.3/8" MIN. 2 5/8" MaX.
3 8.25.| 11 3/8" MIN. 2 5/8" max.
) l COVER PLATE
-
i i SHAFT HANDLE TRAVEL anp e as onesae soeemE0 - 3L 06 £ Tapy beex
$ | KIRK INTERLOCK LOCATION DIRECT DRIVE OPERATION KIT (R.H.)
s A —& ) VERSA-RUPTER SWITCH . A
3|+ i494-063 807 ELnNKDTR P B!_‘,.,B,,,wg Brown Boveri _ _S_-_ Z_Ql _3_§ _____ 5
N 2 | 244-063-501 was 244-006-511 =%e3ls-;r- 9] SMEETNO. 2z SQuz.oN oo LRy,
- j'L | |32 was 476, 1.0 K; a2 TN Pl 244-063 Jov /7 cHD. B, Pollardl | we. L/t otrdesre |micro.
SHAFT 10 . 27.0 was 25.8 P s.0. oare /-g-F¢ |oate - 2/- 8¢ |oare sza s
HOUSING CLEARANCE | ™o REVISIONS v | wo. REVISIONS | oare [ o REVISIONS B :m““‘_;“::'“u'a“m" ATen. Vet O RCLOMS OTHER Trn A8 DXPRERLY ATHORED Y

m-——-_i - ——e e 3 * 2 I : ! R




